
TRIUMPH BONNEVILLE T100 (’01-)
ENGINE SLIDERS

satoracing.com

[L]

[R]

SLIDER BASE [L]

COLLAR 10-6

COLLAR 10-6

SPLIT WASHER M8

WASHER M8

SOCKET HEAD
M6×55mm

SOCKET HEAD
M6×55mm

SOCKET HEAD
M6×55mm

SLIDER L-8MFJSOCKET HEAD
M8×35mm

SLIDER BASE [R]

COLLAR 10-6

COLLAR 10-6

COLLAR 10-6

SOCKET HEAD M6×65mm

SOCKET HEAD
M6×65mm

SOCKET HEAD
M6×65mm

SOCKET HEAD
M8×35mm

SPLIT WASHER M8

WASHER M8

SLIDER M-8MFJ


